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Instructions to Pupils;

1. Do not open this booklet until you are told to do so.
2. Foliow all instructions carefuily.
3. This paper consists of 3 sections, Section A, 5 and C. :
4. For questions 1 to 15 in Section A, shade the correct ovals on the Optical
Answer Sheet (OAS).
5. ANSWER ALL THE QUESTIONS.
Maximum Marks Obtained
Section A 2C
Section B 30
Section C 50
Total 100
* This paper consists of 19 pages altogether.

This paper is not to be reproduced in part or whole without the permission of the Principal.
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s 11to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

Fe :h question, four options are given. One of them is the correct answer,

Mai.. your choice (1, 2, 3 or 4).

St the correct oval (1, 2, 3 or 4) on the Optical Answer Sheét. (20 marks})
1 What is the value of the digit 8 in 980 0367

(1) 80000
2) 8000
{3) 800

4y 80

“here are hundreds in 1 miflion.

1) 100
2y 1000
310 000
{4) 100000

Round off 7 545 089 to the nearest thousand.
1} 7540 000

2}y 7545 000

‘3) 7546 000

4y 7 550 000

~indthe value of 42 + (1839 - 19) + 6 x 2

{1y 52
2} 54
{3y 82

@ 124



5 }
Find the value ot 6— - [— ..
7 7 -

() _a

5 —
;
@ 6
7
(3) '61
7
4 6
@ 6

(1)  9h
2)  8h
(3) 3h
4 4h

12
) 13
@ 3

@ 21

6 =28 : 42

What is the missing number in the box?

(1)
(2)
(3)
(4)

B O ~N
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10.

i1.

12.

There are 30 buttons in a box. 10 buttons are black and the rest are white.
What is the ratio of the black buttons to the white buttons?

(1y 1:2
2y 1:3
3) 2:1
4) 3:1

What is the area of the triangle below?

(1) g9cm?

(2) 18cm?
(3) 36cm?
(4) 72cem’

The area of a floor covered in square tiles is 1250 cm? .
The length of each square tile is 5 ¢m.

How many square tiles are there covering the floor?

(1) 50
{2) 63
(38 125
4y 250

If Gary packed 40 apples into each crate, what was the minimum

number of crates he needed to pack 4860 apples?

M 121
2 122
(3) 173
4y 124



13.

= et

What is the missing number?
(1 5

(2) 6
3 3
(4) 4

e

14.  The ratio of Megan’s age to Tony's age is 5 : 6. Their total age is 66 years.
How old is Niegan?
{1) 11 years old
(2) 30 years old
(3) 36yearsold
(4) 55 years old

15 A piece of wire %m iong is cut into a Sieces. Alice used 3 pieces to tie s¢me

presents. What fraction of the wire did she use altogether?

m 1
15
@ 1
5
@ 2
15
@ 2
5
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Instructions to Pupils:

Do not open this bocklet until you are told to do so.

Follow all instructions carefully.

This booklet consists of 3 sections.

For questions 26 to 50, show all relevant working in the spaces provided.
ANSWER ALL THE QUESTIONS.
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Section B

Questions 16 to 25 carry 1 mark each.
Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (10 marks)

16. A school's population is 2 904. Round off this number to the nearest thousand.
Ans: (1m)
17.  Wiite the following in numerals:
Five hundred and seven thousand and thirty-three.
Ans: (tm)
18. 162 15=162x 10-1] |
What is the missing number in the box?
Ans: {1m)
19.  What is the remainder when 2020 is ~divsded by 87
Ans (1m)
20. Express 1390 m as a fraction of 2 km.
Ans: {(1m)
21.  Find the value of 2% + lv;
Ans: (1m)

P
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22. Ben was told to ?uess a number. He guessed the number 10 be 8.

HES guess is % the actual number What is the actual number’?

Ans: (1m)
23. 10 girls received %kg of strawberries each.
What is the total weight of strawberries in kg?
{(Express your answer in its simplest form)
Ans: ka (1m)
24. Henry bought 60m of rnbbon. He gave away %of the ribbon to Kelly.
How many metres of the ribbon did he give away? .
Ans: m (1m)
25. -
What is the area of the shaded triangle? Ans: 2 (1m)

o



Questions 26 to 35 carry 2 marks each. Show your working clearly in the space below
_each guestion and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. , (20 marks)

26. Molly has $356. Jay has $154. How ruch money must Molly give to Jay so that

each of them will have the same amount of money?

Ans: $ (2m)

' 27. A papayais as heavy as Iwo 0ranges of equal mass. If the mass of each

orange is 160g, find the mass of 3 such papayas.

. Ans: _ g {2m}

28. %kg of mutton costs $2. 1kg of prawns costs $3.50.

Mother’ bought 3kg of prawns and 3 kg of mutlon.

How much did she spend altogether?

Ans: $ __(2m)




29 When Sarah opens a book, the sum of the facing page numbers is 273.
What is the smailer page number?
Ans: {2m)
30. Roy and Lin had the same amount of money. When he spent four times as much
as Lin, he had $22 left while she had $49 lefi. How much did Lin have at first?
Ans: § {2m)
3i. Bala gave % of his starnps 1o his brother and ;of the remainder to his sister,
He had 10 stamps ieft. How many stamps did he have at first?
Ans: {2m)
32. The area of a rectangle is 72 cm®. Its length is 18 cm.
What is the ratio of the iength to its breadth?
(Express your answer in its simplest form.)
Ans: (2rn)




33. A rabbit weighs gkg. A hamster is % of the mass of the rabbit.

What is the total mass of the two animals?

(Express your answer as a mixad number in its simplest form.)

Ans: kg (2m)

34.  The number of chickens and ducks on a farm is in the ratio of 4 - 7.

There are 21 more ducks than chickens. How many chickens and ducks are
there altogether?

Ans: {2m)

35. 10m

4m Bm

\ 4

.
) i

4m 3m

The figure above is not drawn to scale.
Find the area of the unshaded part in the figure.

Ans: m? (2m)




Section C (50 marks) ,

For questions 36 to 48, show your working clearly in the space below each guestion and
wille your answers in the spaces provided. _

The marks for each question or part-question is shown in brackets ( ) at the end of
each question.

3 . 1 )
36. 5 of pupils in a school wear watches. 3 of those who wear watches are girls. If

there are 150 girls who wear watches, how many children in school do not wear

walches?

Ans : (3m)

37.  Jillhad 150 stamps. She kept half of them and shared the rest between Grace

and Ahmad in the ratio 2 :'3. How many stamps did Ahmad receive?

Ans : (3m)

—

10



38. The figure below (not drawn to scale) consists of two oveslapping squares ABCD
and EFGC each of side 10 cm. AZ = ZF = 5 cm. Find the area of the unshaded

part.

Ans : : , (3m)

39.  Minah bougHt 5 boxes of biscuitd and 4 boxes of chocolates for $46. I a box of

chocolates cost $2.50 more than a box of biscuits, how much would one box of

chocolates cost?

Ans : {3m)

1 ‘-i‘{



40, lan, Jean and Ken shared some stickers. lan received % of the stickers. Jean

and Ken shared the remaining number of stickers in the ratio 3 - 1.
mong

¥gepiued 90 stickers mored than Ken, how stickers were there?

If Jean

Ans: : {3m)

. ' ] . 3 :
41, Apal of jeans cost 3 times as much as a skirt. Geraldine spent g of her money

on seme skirts and half of her remaining money on a pair of jeans. How many
skirts did she buy?

Ans : {3m}

95

12



42.

Ji Chang could buy 8 plums and 5 mangoes with $8.00. He could buy 16 such

plums with the same amount of money. if he decides to buy mangoes only, how

many mangoes can he buy with $1007?

Ans : 4m),

13 : ?q



43. Box A and Box B contained only red and black pens. In Box A, the ratio of the
number of réﬁ pens 1o the number of black pens was 3 : 2. In BoXlB, the ratio of
the number of red pens to the number of black pens was 1 : 2. There were 3
times as many pens in Box A as in Box B. If there were 135 pens in Box A, what
was the ratio of the number of red pens in Box A to the number of black pens in

Box B? Give your answer in its simplest form.

Ans : _ — (4m)

(0© 14



b)

$2400
Hamish won $38-068/in a contest. He kept ; of it and gave the remainder to his

wife, sister and brother. His wife received. 3 of the money, his sister received ;11:

of it and his brother received the rest.
How much did his wife receive?

What is the ratio of his wife's share to his brother's share?

Ans : {a). (2m)

{D). : 3m)



45,

a)
b)

.40 pupils shared a certain number of pencils. Each girl received 6 pencils and

each boy received 7 pencils. |
i the boys received 72 miore pencils than the girls,

hbw many boys were theie?

. how many girls were there?

(3 m)

Ans :, {a) _

(b) (2 mj)

16



46,

b)

Mrs Siva has some stamps. If she gives 7 stamps to each of her pupiis, she will
have 5 stamps left. If she gives 13 stamps to each of her pupils, sh&vﬁif’n/eed 61

morg stamps sprere.

‘How many pupils does she have?

How many stamps does she have?

Ans : (&) . (3 m}

(b} ... (2 m)

17 . [03



47,

There are some coins in a piggy bank. ; of the total number of coins is 20 cenjX

coins, 5 of the remainder is 50 centg coing and the rest is 10 centZcoins. The

total value of the coins is $11. How many coins are there in the piggybank?

ANS : {4 m)

18



48.

1 .
Nelson and Wei Ying had some Pokemon cards. Nelson gave 5 of his cards to
H
Wet Ying. In return, Wel Ying gave 4 of the cards she had to Neison. Later,

1 .
Nelson gave 5 of the cards tc Wai Ying. In the end, Nelson had 380 cards and

Wei Ying had 662 cards. How many cards did Nelson have at first?

Ans: {5 m)

End of Paper
Please check your work carefully

19 |0
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26.
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30.
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49,

42,

Rosyth Primary School

Primary 5 Maths SA1 Exam (2007)

Q1 02 03 Q4 Qs
1 3 2 i i
11 Q7 Q8 Q9 Q10
1 2 4 1 3
011 Q12 QI3 Q14 Q13
1 2 4 7 4
3600 17. 507033
810 19. 4
139 417
200 2L ys
1
32 23. 25
45m 25, Z24em?
$101 27. 960
£22.50 29. 136
358 31. 25 stamps
03
9:2 33. 16
77 35, 54em?”
400 chiidren 37. 43 stamps
100cm” 39. $6.50
225 stickers 41. 9 skirts
125 mangees 43. 27 : 10
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44a.

44b.

46b.

47.

48,

2400 -2 = 1200
His wife received $1200

1200 = 8 = 150

1200 : 150
1206 - 15
24 : 3

8 |

The ratio of his wife’s share to bis brother’s shareis 8§ :

There are 24 boys
there are 16 girls

13 —7=¢6
61 + 5 = 66
66 = 6 = 11

She has 11 pupils

Tx 11 =77
77 + 5 = 82
She has 82 stamps.

2 + 15 =30
30 + 10 = 40
There are 40 coins in the piggy banks.

380 - 4 =95 (é—)

662 — 95 = 557 (WY)
380 + 95 — 475 (N)

1
567 + 3 = 189 (—
(4}

475 = 189 = 286 (N)
567 + 286 = 853 (WY)

286 <+ 2 = 143 (%)

853 - 143 = 710 (WY)
286 + 143 = 492 cards
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